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University of Basrah
College of Administration &Economics
Department of Accounting
Second Course Exam-Moring&Evening Studies
(First Attempt)
2023-2024

Subject: English Stage: First Time : 2 hours  Date: 5/15

Note: Answer Five questions only (10 degrees for each one).

Q1. When Reading the story of Babur Ali, Answer the Following Questions by Writing

True or False:
1. Babur School is in the same village where he lives.

N

Babur’s Village has a school where he can attend.

Babur Travels to his school by walking three miles.

(WS]

4 Babur's teaches only one subject at the Anand Shiksha Niketan.

Babur wants to stop teaching at the Anand Shiksha Niketan School when he goes to

(9]

university.
Q2. Rewrite as directed Change the following sentences into different forms of the

present tense given in brackets:

 The sun had been shining brightly since morning. (present perfect continuous tense)

[a—y

12

_ The artist mixes the colors. (present continuous tense)

_ Jack is painting the wall. ~ (present perfect continuous tense)

(O8]

4. The ship sailed yesterday. (simple present tense)

We were waiting for the lecture from 4:30 P.M. (present perfect continuous tense)

(W3]

Q3. Choose the correct answer with present tense: o

1.Jack is six years old, buthe .......... Spanish and French. (speak, is speaking, speaks).

N

. Can you tell me where Pete andCmdy............ this bread? (is buying, buy, are buying).

. Stop it! What do you think you................ ? (do, doing, are doing).

(OF)

4. Be quiet. My parents............. TV. (are watching, watches, watch).

_The buses sometimes.......... late. (is arriving, arrive, arrives).

n




1]

’

Q4. Choi(‘);e The Right Possessive Adjectives:

1. Marten bought a new bike. Did yousee ......... new bike?

2. Maleeka and Gowtham are getting married. .......... wedding reception begins at 5 p.m.
tomorrow.

St English teacher asked us to complete the grammar exercises on possessive

adjectives before Friday.

4. Did you ask her, where ............ husband works?

3 Canlyou bring ............ certificate file on the table?

Q5. Answer the Following Questions:

1.My brother’s daughter ismy ................ (aunt, nephew, niece).

2.Your son and daughter are your ............... (children, brothers, parents).
BN Tl TR SRR S o

4.5he’s @ . ERL L 2R She works in a hotel. (receptionist, pilot, architect).
5.He s as o He’s designs building. (lawyer, journalist, architect).

Q6. Fill in the blanks with verbs (have, go, live, like):

1. They .+ .o, a big house in the middle of city.
20dlleeto ... .. on a beautiful trip to the beach.
3.They'll have enough money to ............. comfortably?
ATRE S - his friends because always helps him.
5.8he L0l with her children.
Best Wishes ds,
o
Lecturer Head of Department

Dr. Amjad S.Abdulali Dr.Elham Al Shawi




University of Bas
College of Economic and
Administration

Accounting Department

Examination the first SUB: Reading -
attempt \ Second A Class: Second
course \2023-2024 Date: /5/2024

TR T o e

Not/

O1\\ choose the correct answer

1) The process of recording transactions has become more efficient because
a. fewer events can be quantified in financial terms.

b. computers are used in processing business events.

¢. more people have been hired to record business transactions.

d. business evens are recorded only at the end of the year.

2) Which of the following events is not an accounting transaction?
a. Purchasing an office building. b. Selling a delivery truck
c. Paying income taxes d. a payroll clerk.

3) Which of the following would be considered an external user of accounting data ?
2. Internal Revenue Service Agent b. Vice-president of finance
c. production supervisor = d. Cost accountant.

4) Which of the following would not be considered internal users of accounting data for a company ?
a. The president of company b. The controller of a company
c. Creditors of a company d Non.

5) Liabilities of a company would not include
a. notes payable. b. accounts payable .c. cash.

6) If X company purchases goods on account for [D4000

a assets and liabilities both decrease by ID4000. b. stockholders' equity increases by ID4000. c. assets
increase by ID4000 and liabilities decrease by ID4,000. :

d. assets and liabilities both increase by 1D4,006

7- The accounting Equation should remain in Balance because every transaction effects How many accounts
(a- onlyone b-only two c-two ormore )

8-you purchase a computer for $ 75000 cash To record this transaction which of following accounts will be
credit  ( a-cash b- computer Equipment c- owners' Equity ) =

9- X company paid off supplies purchased on credit
a- Dr. Supplies Cr.AWP) b- ( Dr. A\P  Cr. Cash) c- ( Dr. cash Cr. A\P)

10- X company provided service on credit for customer
a-(Dr. AR Cr. Service revenue ) b-( Dr. cash Cr.A\R) c-( Dr. Service revenue Cr.A\P )

11-X company sold goods to a customer who paid cash and the rest on account
a-( Dr. Sales Cr. cash) b- (Dr.cash and A\R Cr. Sales) o-(Drisales Cr. A\P)




12-X company paid cash dividends .
a-(Dr.cash Cr. Dividends) b- (Dr. dividends Cr. Cash) c-(Dr. owners' Equity Cr. Dividends)

_ 13-X company purchase land by paying half in cash and signing a note payable for the other half .

a~(Dr. land Cr. Cash and N\P) b- ( Dr. cash Cr.Land) c-(Dr. A\P and cash Cr. Land).

- 02\:Answer with TRUE-FALSE STATEMENTS.

1- Investors and creditors of business firms are two groups who need accounting information.

2- Accounting communicates financial information about a business enterprise to both internal and external
users.

3- External users of financial statements include labor unions, management and regulatory agencies.
4- Examples of assets include cash, supplies and accounts payable

5- consistency is one from Assumption

6-Tangible Accounts are Classify as Real Accounts

7- Inputs Accounting are business transactions

8- National insurance ITD Account is classify as NOMINAL A\C

9- Liabilities of company would include  ( AR)

10- The balance sheet is the Input flow chart of Accounting

11-Full disclosure is one from Principles of Accounting

12- Gains are classify as personal Accounts

13- Production supervisors would be considered as External user of Accounting Data

Q3// The following, transactions were selected from the record of Nader Company.

April 12 sold merchandise to customer Al- Noor company cash worth $ 2000

15 Sold merchandise to customer AL- Sun company at an invoice price of $10000 with Terms 3/10,
N/30.

20 Sold merchandise customer AL — Moon company at an invoice price of $6000 with Terms 3/10,
N /30

23 collected payment from customer AL- sun company from April. 15 sales

30 AL-Noor Company returned merchandise worth $200
May 25 collected payments from customer AL- Moon company from April 20 sale.

Required:1- 1-J ournalized the transactions above 2- Posted to the ledger

Q4\\ Analyze the transactions of a business organized as a corporation described below and indicate their
effect on the basic accounting equation .use a plus sign (+) to indicate an increase and a minus sign (-) to
indicate a decrease .

Assets = Liabilities+ Stockholders'
Equity
1 . Received cash for services
rendered
2 . Purchased office equipment
on credit

3.Paid employees' salaries

4. Received cash from costumer
‘n navment on account




’

5_Paid telgphone bill for the
month E

6. paid for office equipment
purchased in Transaction 2 .

7 Purchased office supplies on

——n
Creait .«

8 Paid cash dividend .

9 Obtained a loan from the bank
10_ Billed customers for services
rendered .

5\ following T-accounts indicate the activities for the month of April for the Al Huda Company

[ = Cash o No%es receivable
4. 34000 | b. 20000 d. 3000
d. 3000 c.4400 f. 1000
f. 1000 e. 20000
a. 1600 7
& b b %
Purchases ) Tools and equipment
c. 4400 a. 6000
= 1 5
Building Accounts Receivable
b. 100000 e g. 1600 e
-~ ‘D \
Notes payable Contributed capital
e. 20000 b. 80000 a. 40000
Required:

Explain transactions a through g. which gave rise to the entries in the T-accounts.

) W
“Dean Head of Dep. — { )Lecturer 9_1,44 e

Dr. Abdul Hussein Tewfik Dr. Elham jaafer Hamld Dr. Fatima jasim Maraw Nabee
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Final Exam [ e Sub: English Language
2ed Semester TN , - Stage: Second 1
First attempt TR Time: 2 Hours
2023/2024 Date: /5/2024

Ministry of Higher Edu.
& Scientiyﬁc Research
Admin. & Econ. College
Accounting. Dept

Answer any five out of six questions (10 Marks for each question)
QI: Complete each sentence with the correct form of the verb:

She __ (study) French every evening.

Thesun ___ (rise) in the east.

They _ (watch) a movie yesterday.

My parents (meet) in college.

He __ (buy) a new car last month.

We__ (have) pizza for dinner yesterday.

She ____ (read) a book at the moment.

We__ (have) dinner with friends tonight.

- We_____ (plan) a trip for next month.

10.My sister (study) for her exams while I was watching TV,

X PN M AW

(10 Marks)
Q2: Choose the correct form of the verb to complete each sentence:
1. By the time you arrive, I__ dinner. .
a) will cook b) will be cooking c¢) am cooking d) was cooking
2. This time next year, they  ona world tour. -
a) will travel b) will be traveling c) travel d) were travel
3. At8o'clock tonight, she _____ her presentation.
a) will finish b) will be finishing c) finishes d) will finished
4. By next summer, I __ French for three years.
a) will study b) will be studying c) study d) will studying
S. At midnight tomorrow, we __ fireworks.
a) will watch b) will be watching c) watch d) will watching
6. She ___ her friend tomorrow. |
a) meets b) is meet c) meeting d) will meet
7. They ____ a new car next month.
a) will buy b) will buys ¢) buying d) was buying
8. 1 my homework after school. ot
a) do b) will do ¢) doing d) was doing
9. He ____ his parents on the weekend.
a) visits b) will visit c) visiting d) visited
10.We ____ to the beach next summer.
a) go b) will go ¢) going d) went
1§ (10 Marks)
Q3: Correct the following sentences:

1. She is readding a book yesterday evening.



We listening to music while we were working.

He is ﬁxmg his car in the garage yesterday.

The kids aren’t play in the garden yesterday afternoon.

While I was studying for my exam, it was starting raining outside.

They were having dinner when the power go out.

Sarah are singing in the choir during the concert last night.

The workers are building the new bridge across the river last month.

10.I am cooking dinner while my roommate was watching TV in the living room.
(10 Marks)

B mEHA E W e

Q4: Fill in the blanks the correct form of the verb:
1. What ____ (you/do) last weekend, and what __ (you/do) at the same time next
weekend?
a) did you do / will you be doing b) were you doing / will you do
¢) do you do / will you do
2. She ____ (travel) to Paris last year, and she __ (visit) Rome next year.
a) traveled / will be visiting b) was traveling / will visit
¢) travels / will visit
3. What ___ (they/watch) on TV last night, and what ___ (they/watch) at the same
time tomorrow night?
a) did they watch / will they be watching b) were they watching / will they watch
¢) do they watch / will they watch
4. He ___ (work) as a teacher before,and he _ (work) as a chef in the future.
a) worked / will work b) was working / will be working
¢) works / will be working
5. Where __ (you/live) five years ago, and where ___ (you/live) five years from
now?
a) did you live / will you be living b) were you living / will you live
¢) do you live / will you live

(10 Marks)
Q5: Answer with true (T) or false (F) for the following sentences:
1. "I walked to school every day' - Simple Past
2. "She is eating dinner right now' - Simple Present
3. "They will go to the beach next weekend" - Simple Future
4. "He played football yesterday' - Simple Past
S. "We are traveling to Europe next month" - Simple Future
6. "She dances ballet every Saturday'' - Simple Present
7. "They watched a movie last night' - Simple Past
8. "I will finish my homework later' - Simple Future
9. "The train arrives at 9 AM every morning' - Simple Present
10."'She will bake a cake for her birthday'" - Simple Future

(10 Marks)



Qe6: Ch095e the right answer:

l.

!\)

tn

She walked to the store yesterday." To "She __ to the store tomorrow."

a) will'walk b) walking c¢) walk d) will walking

"He finished his homework last night." To "He ____ his homework tomorrow."
a) finish b) will finish c¢) finishing d) will finishing

- "They yisited Paris last summer." To "They Paris next summer."

a) visiting b) were visiting ¢) will visit d) visits

"She cooked dinner yesterday." To "She _ dinner tonight."

a) will cook b) cooking c) will cooking d) is cooked

"I read a book yesterday." "I _____abook tomorrow."

a) will read b) reading c) will reading d) will going to read

"We went to the beach last weekend." Corrected: "We ___ to the beach next
weekend."

a) go b) going c) going go d) will go

"They ate lunch at noon." Corrected: "They will eat lunch at noon."

a) were eating b) eating c) is eating d) will eat

""She studied for her exam last night." ""She __ for her exam tonight."
a) will study b) will studied ¢) would studied d) studying

"We plaved soccer last Saturday." "We __ soccer next Saturday."

a) will play b) playing ¢) will playing d) would played

10."The birds chirped early this morning." "The birds early tomorrow

morning."
a) chirp b) will chirped “c¢) will chirping d) chirping
(10 Marks)
Good Luck
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Second course
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Accounting Department

NOT: Answer only four equations : The first equation and second equation must be
among them

Q1\\ choose the correct answer

1- Inventory affect

a-only the balance sheet. b- only the income statement. c- both the balance sheet and the income statement. d-
neither the balance sheet nor the income statement.

2- Under which inventory cost flow assumption is the cost of most current purchases matched first with sales
revenue (a- FIFO b-LIFO  c- AVERAGE COST)

3- What is the method have the same unit cost is used to value ending inventory and cost of goods sold
( a-FIFO b-LIFO c- AVERAGE)

4- Which account should be credit for $ 1800 when writing off the account
( a- Allowance for doubtful account b- A\R c- Bad debits)
5- IN some companies often sell their account Receivable to a firm known ( ( a-factor b- customer c- Non)

6- A company Estimates $ 10000 of its 100000 A\R will be un collectible the allowance for doubtful account
presently has a Debit of $ 3000, The adjusting entry will be include a --—------- to Bad debits

( a- Debit of $ 13000 b-Credit of $ 23000 c- Debit of $10000 d-Credit of $ 10000)
7- What are the two methods for accounting uncollectible accounts
( a- Direct write off method b- Allowance for doubtful accounts c- Both of them )

8--XX company uses the allowance for doubtful account method When XX company writes off an uncollectible
account, There are( a- Increase in the allowance account b- Increase in the A\R c- Deceasein A\R d- Non of
these

9-. AL-khalid Company purchased a depreciable asset for $150,000. The estimated residual value is $10,000, and
the estimated useful life is 8 years. The double-declining balance method will be used for depreciation. What is the
depreciation expense for the second year on this asset?

3. 17500 b 26250 ¢ 2812 d. 37,500




10-The cost of goods available for sale is allocated to the cost of goods sold and the :

a—begihning inventory.  b-endinginventory. C- cost of goods purchased. d-gross profit.

Q2\\ answer with True or false statement

1- The account inventory will appear on the balance sheet as current asset at an amount often reflects
with ( COST))

2_-Time as a consideration is important inventory management.
3- The factors computing depreciation cost, salvage value , useful life )
4- The another name of fixed assets long —term live

5-The main difference between a perpetual inventory system and a periodic inventory system .is compute
the cost of goods sold

6- In a manufacturing business, inventory that is ready for sale is called raw materials inventory.
7_ Allowance for Doubtful Accounts on the balance sheet. is offset against accounts receivable.
8- A debit balance in the Allowance for Doubtful Account is the normal balance for that account.
9-The cost of goods sold compute on base FIFO increase the netincome

10-Middle — in First out is common cost flow assumption used in costing inventory.

Q3\\ The December 31, 2022 balance sheet of YYY Company had Accounts Receivable of $500,000 and
a credit balance in Allowance for Doubtful Accounts of $33,000. During 2023, the following transactions
occurred: sales on account $1,600,000; sales returns and allowances, $50,000; collections from
customers, $1,400,000; accounts written off 1D35,000; previously written off accounts of ID5,000 were
collected.

Instructions:

(a) Journalize the 2016 transactions.

(b) If the company uses the percéntage of sales basis to estimate bad debts expense and anticipates 3% of
net sales to be uncollectible, what is the adjusting entry at December 31,20237

(c) If the company uses the percentage of receivables basis to estimate bad debts expense and determines
that uncollectible accounts are expected to be 4% of accounts receivable, what is the adjusting entry at
December 31,2023?

Q4\\ AL Ali Company uses a periodic inventory system. The following Details for the inventory account for
the month of January 2023 are:




Units per unit price

Balance. 1/1/2023 400 $5.00
Purchase. 1/15/2023 200 5.30
Purchase 1/28/2023 200 5.50

At end of the month (1/30/2023)inventory showed that 240 units were on hand.
Required

1- How many units did the company sell during January 20237

2- If the company uses FIFO .what is the value of the ending inventory?

3. If the company uses LIFO. What is the cost of goods sold.

4- |f the company uses Average . What is the gross profit for the month if the sell price ID 10 for each.

QS}}.The following information about two machines for XXX company .

|\Wachi $Cost Purchase Date | Usefullife | Salvage Depreciation Date Exchange\ | Market value

‘ ne value method - change

! —
1 1 660000 | 7/1/2005 5 years 6000 Double-declining | 1/1/2008 $500000

|

IT 40000- 1/1/2006 5 years 5000 Straight- line 1\1\2008

|

L

Additional information

1- At 1\1\2008 The management decided the new useful life for( Machine 2) 7 yea
2- The company paid $150000 besides the old Machine ( Machine 1).

Required

a- compute the Depreciation and record the entry depreciation on each machine

b- Record the entry of exchange of machine 1 at the date of exchange..

c- compute revised Depreciation for Machine 2 at 31\12\2009

ead of Dep. cturer

Dr. Abdul Hussein Tewfik Dr. Elham jaafer Hamid  Dr. Fatima jasim
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QI:A/ A company produces two products on A,B,C. The following table summarizes the
data of the problem:

Product Minutes per unite Unite profit
A B €

1 10 6 8 208

2 5 20 10 30%

Maximum |25 30 40

daily

availability

Formulate the problem as an linear programming model.
B/ Formulate the duality L.P. rﬁodel

Min Z=2X, X, + X;

St

3X; +X,-3X5<60

Xi—-Xp+2X3>45

Xi-X+X5=12

X5, X3 >0 ; X, : unrestricted

Q2/ Solve the following transportation problem by Least cost method

1 2 3 4 5 Supply
Center1 | 100 150 200 140 35 | 400
Center 2 50 70 60 65 80 200
Center3 | 40 9 100 150 130 | 150

Demand 100 200 150 160 140




Q3/ S‘_blwllgthe following linear iprogramming by Simplex method
' &2 Max L=0%| "%
TST. 4x +8% <24
X1<8
X1, X9 >0

Q4/Solve the following
Max Z = x, + 3%,
o 3X| +4X2 7

linear programing problem by Graphical method

X1 +2x,<4
X2_>_1
X],X2_>_O

Q5/Find the optimum solution of B player for the following game fnatrix
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Q 1/ Lara trading company had the following estimated cash flow for 2022. Total cash
receipts for quarter 1 is  $656,000 and for quarter 2 is $1,555,000 and for quarter 3 is
$509,000 and for quarter 4 is $766,000 , also for the total cash disbursements; for quarter 1
is $809,000 and for quarter 2 is $ 690,000 and for quarter 3 is $777,000 and for quarter 4 is
$802,000 . The company begins the first month with $47,500 in cash and requires a
minimum cash balance of $20,000. The company may borrow any amount from a local bank
at an annual interest rate of 6%. The borrowing must occur at the beginning of any quarter
and all repayments must be made at the end of any quarter. Interest must be repaid at the
time of loan repayment

Required: Prepare the company’s cash budget for 2022.

—————————————————————— (10 Mark)

Q 2/ Soda Manufacturing Company provides vending machines for soft-drink manufacturers.
The company has been investigating a new piece of machinery for its production department.
The old equipment has a remaining life of three years and the new equipment has a value of
$52,650 with a three-year life. The expected additional cash inflows are $25,000 per year.
What is the internal rate of return?

----------------------------------------------------------------- (10 Mark)

Q 3/ AlBasra Company, need to invest in one of the two projects, A and B; the initial
investment for A project is $80,000, estimated life is 5 years, and the salvage value is $4000,
with cash inflows for yearl $20,000, year2 $40,000, year3 $40,000, year4 $12,000, year5
$8,000. For B project the initial investment is $120,000, estimated life is 5 years, and the
salvage value is $8000, with cash inflows for yearl $80,000, year2 $40,000, year3 $20,000,
yeard $12,000, year5 $8,000.

Required: which project must be accepted assuming that the discount rate is 12%?

———————————————————————————————————————————————————————————————— (10 Mark)
Q 4/ Wallace Company provides the following data for next year:
Month - . Budgeted Sales
January $120,000
February 108,000
March 132,000
April 144,000

The gross profit rate is 40% of sales. Inventory at the end of December is $21,600 and target
ending inventory levels are 30% of next month's sales, stated at cost.
Required:

1. What is the budgeted purchases for January in total?

A et 2o tha kindoated nirrchases for Eebruary in total?




———————————— e § LUB\U 4.9

Q5/ Spriri'g'ﬁme Flower Company provides flowers and other nursery products for
decorative purposes in medium to large sized restaurants and businesses. The company has
been investigating the purchase of a new specially equipped van for deliveries. The van has a
value of $123,750 with a seven-year life. The expected additional cash inflows are $27,500
per year. What is the payback period on this investment?

e L L R R (10 Mark)

~ Q 6/ Sleepeze Company produces a variety of pillows for catalog sales. Two popular types
~ are the standard pillow and the neck roll. The standard pillow sells for $4, and the neck roll
sells for $3. Projected sales of the two types of pillows for the coming four quarters are as
follows:

Standard Pillow Neck Roll
First quarter 5,000 4.000
Second quarter 6,500 4,500
Third quarter 10,000 8,000
Fourth quarter 5,500 5,000

The president of the company believes that the projected sales are realistic and can be
achieved by the company. In the factory, the production supervisor has received the
projected sales figures and gathered information needed to compile production budgets. He
found that 300 standard pillows and 170 neck rolls were in inventory on January 1. Company
policy dictates that ending inventory should equal 20 percent of the next quarter’s sales for
standard pillows and 10 percent of next quarter’s sales for neck rolls.

Required:

1. Prepare a sales budget for each quarter and for the year in total. Show sales by product and
in total for each time period.

2. Prepare a separate production budget for each product for each of the first three quarters of
the year. '

--------------------------------------------------------------- (10 Mark)
With my best wishes
s 2
Head of Dept.

Dr. MOHANAD MOHAMED Dr. ELHAM AL-SHAWI

o

ean of College
Dr. ABDULHUSIEN TAWFEEQ
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Q 1- True or False (10 marks marks):

1-When the actual sales are more than the budgeted sales, the sales variance is favorable.

2-A trigger point is a process in the cycle, from purchase of direct materials to sale of finished goods.
3-— In both single product and multiple products sales, the same sales variances are computed.
4-Budgeted average CM per unit = Budgeted CM per units x Budgeted sales mix.

5-— In Just in Time system, some indirect costs have been changed to direct costs.

6-Quality is defined as the total feathers and characteristics of a product made according to specifications to
dissatisfy customers as the time of purchase and during use.

7-In a JIT system, suppliers are selected on basis of their ability to provide materials at the lowest price.
8-ABC focus on the three elements of costs.

9-The four categories of quality is relate.

10-In ABC, the products consume the resources.

Q 2// —Multiple choice questions (30 marks):

-: The activities, indirect costs, activity drivers, and products are as follows:

Activity Indirect Activity driver |Quantity of activity driver
costs Product A Product B
Designing ID 800,000 |designer -hours 600 400
Inspection ID 450,000 |Inspection hours 100 50
Direct materials per unit ID 1,000 ID 800
Direct labor per unit ID 780 ID 635

The units produced of product A are 1500 units, and product B 2000 units.
1 — Designing rate is:

A —ID 850 per hours B — 1D 800 per hour C—1D 900 per hour D —1ID 750 per hour

2- — Indirect cost allocated per unit of product A:
A—-1D 235 B-1ID 520 C—-1D 250 D-1ID 325

El-dyar Company incurred the following costs of quality for July 2021: line inspection 1D 20,000; scrap 1D
25,000; product testing 5,000; warranty ID 10,000; rework 1D 10,000; claims ID 15,000; training program ID
20,000; supplier evaluation 1D 10,000.

3 - Prevention costs are

A—1D 20,000 B —ID 30,000 C-1D 10,000 D - 1D 35,000
4- Appraisal costs are:

A —1D Zero B —1D 20,000 C-1D 25,000 D -1D 5,000
5 - Internal failure costs are:

A-1D 10,000 B —1D 25,000 C-1D 35,000 D -1D 43,000
6- External failure costs are:  °

A - 1D 30,000 B—1D 10,000 C-1D 25,000 D -1D 15,000

Al-Basrah Company produces hand watches. The budgeted and actual data for March 2015 follows:

r Actual results Static budget
rUnits sold 230,550 units 220,000 units
| Sales revenues ID 3,400,000 ID 3,300,000
| Variable costs 2,312,000 2,112,000
Warket share 53% 50 %

4
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A—1D'70,470 (F) B—ID 70,740 (U)  C—ID 70,740 (F) D —ID 70,470 (U)
8 —The m‘érket size variance is:
A—1D 13,500°(U) B—ID 11,500 (U)  C—ID 11,500 (F) D —ID 13,500 (F)

9 — Flexible budget is based on:

A — Actual units sold B — Planned units sold
C — Estimated units sold D — Budgeted units sold
10— Which of the following is not a batch-level activity?

A - Engineering_ changes - B - Equipment setups

C — Inspection D - Materials handling

Answer Three question from the four following questions(10 marks for each)
Q 3// Bentlet Corporation is a diversified manufacturer of sporting goods the company's activity-based costing
system contains the following six activity cost pools and activity rates at the right:

Cost and activity data have been supplied for the Tennis racquet and Squash racquet product lines:

o

Costs and units Tennis | Squash
Direct materials cost per unit $11.00 | $28.00
Direct labor cost per unit $15.50 | $7.80
Number of units produced per year | $6,500

Activity cost pool Activity Rates Activity Tennis Aquash
| Labor -related $4.80 per direct labor-hours Direct-labor hours 8,400 1,050
Wachin-related $17.00 Machin per machine-hour Machine-hours 13,000 3,500
' Machine set up $180.00 per set up Machine setups 7 4
Production orders | $55.00per order Production orders 7 4
' Shipments $62.00per shipment Shipments 14 4
| General factory $9.00 per direct labor-hours

Required:: Compute the unit product cost of each product listed above.

Q 4// Brabham enterprises manufactures tires for formula 1 motor racing circuit. For August 2023 it
budgeted to manufacture and sell 3,000 tires at a variable cost of $74 per tire and total fixed cost of $54,000
the budgeted selling price was $110 per tire. Actual results in August 2023 were 2,800 tires manufactured

~ and sold at a selling price of $112 per tire. The actual total variable costs were $229,600 and the actual total
fixed costs were $50,000
Required: Prepare a performance report including the actual results, the flexible budget, the static budget a
well as the sales/volume variance, the flexible budget variance and the static budget variance.

Q 5// Dazzle lighting Corporation manufactures a wide range of lighting fixtures for the following housing
industry the company recently adopted backflush costing the following events occurred in June

a- Raw materials costing $750,000 purchased on credit.
b- Direct labor costs of $300,000 and the manufacturing overhead costs $380,000 were incurred. These
amounts have not been paid.
c- Conversation costs of $700,000 were applied to products these goods included raw materials costing
$380,000 :
d- Goods costing $950,000 were sold for $1,300,000 on credit.
e- Over applied or under applied conversion costs were closed to cost of goods sold
Required: 1- prepare the journal enteris using 3 triggers point
2- post to ledger accounts
3- Prepare journal entries using transactional system

~



Q 6// The Black Company manufactures custom-designed milling machines and incurred the
following costs of quality for 2021 and 2022:

2021 . 2022

Rework $ 200,000 $250,000
Desigen engenering 40,000 50,000
Process engineering 300,000 270,000
inspection 80,000 60,000
Scrap 50,000 90,000
Defective product 90,000 85,000
Liability claim 360,000 500,000
Customer service 230,000 350,000

The total sales in each of two years were $6,000,000 the firm's cost of goods sold is typically
one third of net sales.
Required:
1- Prepare a cost of quality report that classifieds the firm's cost under the proper cost of
Quality category.
2. Calculate the ratio of each cost of quality category to sales in each of the two years

3- Analyze the cost quality report between 2021 and 2022.

Good luck

P.D.AgduIHuseen .T.Shable

Dean

A.P.DElham J.Hmeed A.p.Fayhaa.AYMahmmod

Head of Department Lecturer
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